N = 433 N = 434 N = 435

433 circles in acircle 434 circles inacircle 435 circles in acircle
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radius = 0.044370155774  density = 0.852451743225 Qe radius = 0.044280633097  density = 0.850976118890 Sesmr radius = 0.044234452504  density = 0.851158752928 Desmr
ratio = 22.537671607459  contacts = 1056 ratio = 22.583236283118  contacts = 1014 ratio = 22.606813092278  contacts = 999

N = 436 N = 437 N = 438

436 circles inacircle 437 circles in acircle 438 circles in acircle
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radius = 0.044193742514  density = 0.851545878539 [ Eswmt radius = 0.044134077918  density = 0.851195956321 [ Eswmt radius = 0.044101975719  density = 0851903106913 [ Esmr
ratio = 22.627637830988  contacts = 1013 ratio = 22.658227999108  contacts = 894 ratio = 22.674721113670 contacts = 992

N = 439 N = 440 N = 441

439 circles inacircle 440 circles in acircle 441 circles in acircle
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radius = 0.044047909807  density = 0.851755859325 Qe radius = 0044010742510  density = 0.852256000762 Sesmr radius = 0.043960528387  density = 0.852244872719 Desmr
ratio = 22.702552842580  contacts = 1003 ratio = 22.721725264557  contacts = 1016 ratio = 22.747679263535 contacts = 994

N = 442 N = 443 N = 444

442 circles in acircle 443 circles in acircle 444 circles in acircle
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radius = 0.043910352710  density = 0.852228631206 [ Esmt radius = 0.043870260729  density = 0.852507700952 [ Eswmt radius = 0.043833689888  density = 0.853098211941
ratio = 22.773672682655 contacts = 965 ratio = 22.794484997056  contacts = 996 ratio = 22.813502640210 contacts = 800




